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fourteenth Week

Home performances

1- State the importance of:

a- The liver as an excretory organ.
b- The sebaceous gland of the hair.
c- Auxins in plants.

d- The refractory period.
2- Explain the following:

a- The stem is a negative geotropism.
b- The occurrence of selective reabsorption
c- Injury of the medulla oblongata may lead to the death.
d- The presence of two roots for each spinal nerve.
3- Complete the table:

Event Result

1- The apex of the oat seedling is B e

separated by a mica plate.

2 b- Increased urea content in the urine.




